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1.1 ��������

��� 2����� 5 ������

2, 7, 12, 17, 22, · · · ,

�� 5 ������ 2 ������

· · · ,−18,−13,−8,−3, 2, 7, 12, 17, 22, · · · .

����������������������� 5 ������ 2 �����

· · · ,−18,−13,−8,−3, 2, 7, 12, 17, 22, · · ·

����

x ≡ 2 (mod 5)

��������

x ≡ a (mod n)

����� n ������ a ����

1.2 ������

���	�� ��!�����	!�	������������������


�����	���� m ���� a �
 n ���� b ������	����


������������������	�����
����	������

���"�� �#����������
��������
����	�

�� 1.1 (������) � m,n �$��%���a, b ��������{
x ≡ a (mod m)
x ≡ b (mod n)
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������� x0�"�������� x 	��������

x ≡ x0 (mod mn).

������ m,n �$��%����������� x, y ������� ??	

mx − ny = b − a.

& x0 = mx + a = ny + b�� {
x0 ≡ a (mod m),
x0 ≡ b (mod n).

�	&�� x �
{
x ≡ a (mod m)
x ≡ b (mod n)

⇒
{

x − x0 ≡ 0 (mod m)
x − x0 ≡ 0 (mod n)

⇒ x − x0 ≡ 0 (mod mn)
⇒ x ≡ x0 (mod mn).

���������� x ��
���

x ≡ x0 (mod mn).

�
�����������	���$�������'�(���������

��������������	����������	�

�� 1.1 ���� ⎧⎪⎨
⎪⎩

x ≡ 2 (mod 5),
x ≡ 3 (mod 7),
x ≡ 4 (mod 11).

�������� {
x ≡ 2 (mod 5)
x ≡ 3 (mod 7)

⇒ x ≡ 17 (mod 35),

�� ⎧⎪⎨
⎪⎩

x ≡ 2 (mod 5)
x ≡ 3 (mod 7)
x ≡ 4 (mod 11)

⇒
{

x ≡ 17 (mod 35)
x ≡ 4 (mod 11)

⇒ x ≡ 367 (mod 385).


�����)������*���� 367 �������
 367 ��)���

�� �
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1.3 ������

�� 1.2 ���
 1 + 3y = 2x ��	�� x � y�

����������� 8 ��

1 + 3y ≡ 2x (mod 8).

�� y ��

��+�

(1) � y �
����� 3y ≡ 1 (mod 8)���

2x ≡ 1 + 3y ≡ 2 (mod 8) ⇒ x = 1.

���� (x, y) = (1, 0)�

(2) � y ������� 3y ≡ 3 (mod 8)���

2x ≡ 1 + 3y ≡ 4 (mod 8) ⇒ x = 2.

���� (x, y) = (2, 1)�

�� (1) , (2) ��

(x, y) = (1, 0) 
 (2, 1).

�

�� 1.3 ���� 8 ������ 7 �%�� n �	�������-���

������� x, y, z �


x2 + y2 + z2 = n,

�� n ≡ 7 (mod 8)���

x2 + y2 + z2 ≡ 7 (mod 8);

������ ⎧⎪⎨
⎪⎩

x2 ≡ 0, 1, 4 (mod 8)
y2 ≡ 0, 1, 4 (mod 8)
z2 ≡ 0, 1, 4 (mod 8)

.
���� 8 ������ 7 �%�� n �	�������-��� �

�� 1.4 �� 5x3 + 11y3 + 13z3 = 0 ���� x, y, z�
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����� (x, y, z) �= (0, 0, 0) " (x, y, z) = 1 ��� x, y, z �


5x3 + 11y3 + 13z3 = 0.

��

5x3 + 11y3 ≡ 0 (mod 13).


 {
x3 ≡ 0, 1, 5, 8, 12 (mod 13)
y3 ≡ 0, 1, 5, 8, 12 (mod 13)

⇒
{

5x3 ≡ 0, 1, 5, 8, 12 (mod 13),
11y3 ≡ 0, 2, 3, 10, 11 (mod 13),

�������������{
5x3 ≡ 0 (mod 13)
11y3 ≡ 0 (mod 13)

⇒
{

13 | x

13 | y
⇒ 13 | x, 13 | y, 13 | z.

��$����.

�� x = y = z = 0 �������� �

�� 1.1 ���� ⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

x ≡ 1 (mod 3),
x ≡ 3 (mod 5),
x ≡ 3 (mod 7),
x ≡ 9 (mod 11).

�� 1.2 �	�� x, y, z �
 x3 + y3 = z3���� x, y, z ������ 7 ����

�� 1.3 �� 5x2 + 13y2 = 7z2 ���� x, y, z�

�� 1.4 �� x2 + 3xy − 2y2 = 122 ���� x, y� 1

�� 1.5 ���!����	���/
�/
�/	�	���
������

	���� �0	�

130, 320, 430, 790, 3500, 3620, 4160.

�����!Æ�����	�����	��������
�/���	���

/�����/�1�������	"���	�
�	����

�� 1.6 ���2 ��%��"�2 �%��
��� ����3����

��2 ��%���

�� 1.7 ���� 2, 3, 4, 5, 6, 7, 8 ��������� 7! �� �%������

���#-���

1�������� 17�
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�� 1.8 � 2, 3, 5, 7, 9 �����
������������2����	���

���������#-�������#-��� 2

�� 1.9 2 �%�� aabb ��#-������2 �%����	��1 �

%�� aaabbb���	
���

�� 1.10 ���!4���������������

���5 37 �� �4�7 0�

���������5�����0"�� � *�� � ���	�
��5���
$�0��

�� 1.11 � a, b ���"�
 24 | (ab + 1)����24 | (a + b)�

�� 1.12 	���
����	�����%����
 3 � �&	����6

����%
�"�
 4 � �&	����	���%���

(1) �� 2 ��%�"�����

(2) �� 3 ��%�"�����

�7���

��	
����� ����������������������
���

���	��	
�������	�����
���'���


��

2��� 9 �������� 10 �� 4 ����������
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���%�� n ��

1204 + 2724 + 3154 + n4 = 3534

���%�� n ���3
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���������)������������������������
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3������ 2, 3, 5, 11 ����
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